09

0 (610) =< Mg (611) AlS3 2 g :(01) HEE

(crel : m2)
e | Gnw | B 2 & £ 9l x

54,300,000 52,200,000 2,100,000
43,405,036 41,255,351 2,149,685
42,719,898 40,650,008 2,069,890
42,719,898 40,650,008 2,069,890

19,675,172 18,547,539 1,127,633 | O sX < 14,085,048

- JI& 24,638,611m x 5703 = 14,044,008

— A 72,000m x 570& = 41,040

O seixy 3,394,392

— JI& 6,165,912m x 540& = 3,329,592

— A 120,000m" x 540& = 64,800

O 204z 17,479,440,000& x5.8% = 1,013,807

O REYE HAHQZ(JIE& 40,1918, &A 800&) 1,181,925

— D=13mm 780& x 31,2698 x 128 = 292,677




A
240

Jo

Jo
b

Jo

E Il

]

0

— D=20mm 3,180& x6,2938 x 12& 240,140
— D=25mm 4,990& x 2,043 x 12& 122,334
— D=32mm 9,870& x 4784 x 128 56,614
— D=40mm 14,8403 x 4348 x 12 77,286
— D=50mm 22,6303 x 2458 x 128 66,532
— D=75mm 57,7703 x 69H x 12& 47,833
— D=80mm 59,9403 x 218 x 12& 15,104
— D=100mm 95,9508 x 718 x 12& 81,749
— D=150mm 201,780 x 558 x 12& 133,174
— D=200mm 283,6603 x 9& x 128 30,635
— D=250mm 348,4403 x 38 x 128 12,543
— D=300mm 442 0208 x 18 x 122 5,304
; 19,303,311 18,444,655 O sX49 14,674,901




[ 2S8F D |
21 (600) AbRIA 5 1 (610) 4ol Mg : (611) ABE2 22 = (03) yug ol - )
%Zik"§| gg e | Gnw | B 2 & £ 9l x
- JI& 14,211,477m x 1,030& = 14,637,821
— A 36,000m x 1,030& = 37,080
O 8HA4H 3,074,701
— J|& 3,038,701m x 1,000& = 3,038,701
— NA 36,000m x 1,000& = 36,000
O 304z 17,749,602,000& x4.5% = 798,732
O Y HAHQI(JE& 17,6938, sA 200&) 754,977
— D=13mm 780& x 10,6768 x 12&€ = 99,927
— D=20mm 3,180& x 3,374 x 128 = 128,751
— D=25mm 4,990& x2,6698 x 12& = 159,819
— D=32mm 9,870& x311& x 12&8 = 36,834
— D=40mm 14,8403 x 3648 x 12& = 64,821
— D=50mm 22,6303 x 308X x 128 = 83,640




00) At =< g : (610) 2P Mg (611) AlS3 2 2 (03) getE

CEREE)
gg e | Gnw | B 2 & = ) =
— D=75mm 57,7703 x 678 x 128 = 46,447
— D=80mm 59,9403 x 90N x 128 = 64,735
— D=100mm 95,9503 x 18M x 12&8 = 20,725
— D=150mm 201,780& x 8™ x 128 = 19,370
— D=200mm 283,660 x6& x 128 = 20,423
— D=250mm 348,4403 x 18 x 128 = 4,181
— D=300mm 442 0203 x 1& x 128 = 5,304
EHAT%%% 1,994,621 2,006,767 A2,146 1O sKS 1,671,016
- JIE 1,766.628m x 945,879& = 1,671,016
O s8X4g 205,972
- JI& 104.103m x 1,978,550& = 205,972
O eazIH=E 1,876,988,000& x4.6% = 86, 341
O PEYE FHRIB(II= 95H) 31,292




00) Abgi4 . (610) 4ol Mg : (611) ABE2 22 S (04) BEYS ot ma)
gg e | Gnw | B 2 & & 5] =

— D=13mm 7803 x4&™ x 128 = 37

— D=20mm 3,180& x 28 x 128 = 76

— D=25mm 4,990& x 3™ x 12&8 = 179

— D=40mm 14,8403 x 308 x 128 = 5,342

— D=50mm 22,630% x 398 x 12& = 10,590

— D=75mm 57,7703 x6& x 128 = 4,159

— D=80mm 59,940& x7& x 128 = 5,034

— D=100mm 95,950& x 3™ x 12& = 3,454

— D=150mm 201,780& x 1& x 128 = 2,421

/0‘;%‘3—4—2— 2 1,746,794 1,651,047 95,747 10O sS4 1,495,755

— JI& 3,323.900m* x 450,000& = 1,495,755

O sex 44,636

— JI& 99.413m x 449, 000& = 44,636




[ #5383 |
2 (600) AP % & @ (610) FYso Mg @ (611) AlB24 S (05) MALZYE Gol  msl)
%Zik"§| gg e | Gnw | B 2 & = ] =
O gaoas 1,540,391,0008 x 8.7% = 134,014
O PHY FAQLI(JIZE 118F) 72,389
— D=13mm 7808 x 3% x 128 = 28
— D=20mm 3,180% x 6% x 128 = 228
— D=25mm 4,99091 x 147 x 128 = 838
— D=32mm 9,870& x6M x 128 = 710
— D=40mm 14,8409 x 118 x 128 = 1,958
— D=50mm 22,6309 x 198 x 128 = 5,159
— D=75mm 57,7708 x 228 x 128 = 15,251
— D=80mm 59,9408 x 188 x 128 = 12,947
— D=100mm 95,9508 x 108 x 128 = 11,514
— D=150mm 201,7808 x 7& x 128 = 16,949
— D=200mm 283,660 x2& x 128 = 6,807




At 2= g (670) LA MNIg : (671) Ol Xt=< £ ¢ (01) =30l Xt=+¢ crol : mgl)
(==}
= BE oz | . - _
= 685,138 605,343 79,795
=9 320,000 300,000 20,000
81|1§ 0l X} oI 320,000 300,000 20,000 &I 0l =0l Xt 320,000, 000& 320,000
Etsl A= 313,138 305,343 7,795
02 _
fEws HroD 128,110 126,063 2,047 St AIEE =838 =2
128,110,000& 128,110
03 _
olBhE| H X 22 109,428 105,480 3,948 FUCH = AHEX Y01 Y g2z KA
7,700,000& x 12&8 = 92,400
ABIAAL MLTABE X2
860& x 55 A x30E x 128 = 17,028
09 LiE oA SoleEc2 XA
420,000,000& x 1.5% x 12& 75,600
JIEtZE e+ 52,000 0 52,000
03 = 2 Iz ot 2l
EgzgaLol 50,000 0 50,000 =235 W& 50,000, 000& 50,000
04 A2 Ol 9ot 2|
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[ 2S#F D |
2 1 (900) OIE 23 & : (910) 012 ME : (911) OI== £ : (01) 0DI=3 crol : mMa)
n; = bSIE e - -
I OH — = 2t I = =
900
=1 2,010,352 1,050,409 959,943
910
0l=2 300,000 300,000 0
911
Ol== 300,000 300,000 0
8|1,\: 300,000 300,000 010 HEE =EIt Ol+==2 300,000,000& = 300,000
920
Ol =2 1,710,352 750,409 959,943
921
== 1,710,352 750,409 959,943
8|1%: 1,710,352 750,409 959,943 | O =MHLH=S 1,710,352,000& = 1,710,352




(610) oi4 ME PR AL 2 1 (01) AMBALD ol )
= = o e | Laa | B & £ 9l x
2,158,610 1,901,040
2,056,610 1,676,040
B =S Ab==< 2,030,930 1,658,040
Z’ég— A0l 1,965,930 1,593,040 O SX=(1,0008) 1,094,930
— D=13mm 871,000& x600M 522,600
— D=20mm 1,124 ,000& x 260& 292,240
— D=25mm 1,283,000& x80& = 102,640
— D=32mm 1,699,000& x30& = 50,970
— D=40mm 3,606,000& x 208 = 72,120
— D=50mm 4,372,000& x5& 21,860
— D=75mmO| &t 6,500,000& x5& = 32,500
O sHX4 871,000
— IPELZQ 3M SH 871,000& x 1,000& 871,000




—

2 (600) AP 5 1 (610) 4ol Mg : (612) 2 - a2 A2 2 (02) WEZAILO ol )
e | Gnw | B 2 & £ 9l x
65,000 65,000 0O =X < (D=13~75mm) 1,000,000& x 508 = 50,000
O 89 X< (D=13~50mm) 500,000& x 30N = 15,000
JIEHE & 4 25,680 8,000 7,680
MY 25,680 18,000 7680|0 2AZA LB 2aE 05 680
— SA4 13,680
=& 25mmHt X 12,000& x 860AMICH = 10,320
2 32mmO| & 24,0003 x 140MICH = 3,360
- 8814 12,000& x 1,000MICH = 12,000
670
g9 102,000 225,000 A123,000
JIEtg g2 102,000 30,000 72,000
1,000 0 11,0000 =283 MW 1,000,000& = 1,000
100,000 30,000 70,000 O =& & Ot |;oX 22 100,000,000& = 100,000
JIEF 29| & 1,000 0 1,000 0 &< 1,000,000& = 1,000




= (100) X284 gt (170) A2do=2+¢ Mg - (171) ANE2g232+¢ = (01) N2 242
CHel : M)
ot = PSR E
| OH = = 2t 1 = -
100
289 6,715,750 7,988,000 A1,272,250
170
AA=2dHa+ 6,715,750 7,988,000 N1,272,250
171
ANE2EI=L 2,415,750 2,488,000 AT72,250
01
NI =P-] 2,415,750 2,488,000 AT2,250 | O Xt 2YZ 2,415,750
— Jjelgs=A 1,803,500,000& 1,803,500
— OIOLIEX S 612,250,000 612,250
173
EtslHAEEE S+ 4,300,000 5,500,000 1,200,000
01
2DpExaAQ 4,090,000 4,700,000 AB10,000 | O ZHUBIMAHI SHE HAE3A 1,600,000, 000& 1,600,000
O EJXNS Xgas=5 X 3A 1,400,000,000& 1,400,000
O JIAH, JI=E2EXNY NLMd=E X SA 1,000,000, 000& 1,000,000
O =dlg &2 =2 FE3A 90,000,000 90,000
03 L =D} 2HAH 2
ANCHEE2A0 210,000 300,000 A90,000 O =& M 30,000,000 30,000
O &N Xgas=E A 3A 105,000, 000& 105,000
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